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Nw→Px

There are 3 Rs

If N is in W,
P is in X

T and S are in 
the same group

S and R are not
in the same group

Q is not in X

O is in W

X Y ZW <
=

Q

P U↔

Either P is in X and U is in Y
or U is in X and P is in Y

X & Y have the same
number of spacesX has more

spaces than W

Z has at least 2 but
no more than 4 spaces

Logic Games
Grouping Rules
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S or T

S

There are at
least 2 Os

Q→O An O is in any group
that Q is in

QR
N→

→
If R is in a group
N and Q are not

S must be in a group
with U or T

S
U/T

S is in a group with
U or T but not both

S
U/T/

<

There are more
Us than Ts

=1+ Y and Z have at least
one letter in common

P  =  N

The number of Ps in Y
is the same as Ns in Z U is not in the same

group as anyone else
orU

|
U
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